
WI11914

Assembly Instruction

PART LIST

1 of 12

A

C

E

D

B

I

J

J

I

H

H

F

G

F

G

K

L



Assembly Instruction

STEP 1

2 of 12

10 PcsM4x38mm Screw8
8 PcsM4x30mm Screw7

L Bracket 14 Pcs13

Drawer Slide 300mm

10 2 Sets

11 8PcsM5x8mm Screw (Euro Screw)

12 4 PcsNail Leg

9 2 PcsOS-V Handle

8 Pcs15 15mm Minifix Cap

4 PcsM3x16mm Screw6
M3.5x16mm Screw 42 Pcs5

6 PcsM5x40mm Screw4

16 Sets3 15MM

Titus Mini Fix

2 32 Pcs8x25mm Wood Dowel

12 Pcs
M8x40mm Wood Dowel1

No. SHAPE DESCRIPTION Qty.

Hardware List

2 Pcs14 Z Bracket

D

E

C

G

F

G

F

2

2Pcs17

Wall Plug18
M4x30mm Screw19

2Pcs
2Pcs

Safety Strap

Hardware List
No. SHAPE DESCRIPTION Qty.

2PcsM3.5x16mm Screw16

Flat Washer 6x19x2mm20 4Pcs

Packing Tipping Restraint



STEP 2

Assembly Instruction

STEP 3

3 of 12

G

H

G

H

1

L

J

I

J

I

3

A

K



STEP 4

Assembly Instruction

STEP 5

4 of 12

G

G

F

F

11

10

13

5

E

E

C

D



STEP 6

Assembly Instruction

STEP 7

4

C

E

D

B

5 of 12



STEP 8

Assembly Instruction

STEP 9

6 of 12

F

G

G

F

3

5

13

A



STEP 10

Assembly Instruction

STEP 11

7 of 12

H

H

I

J

J

I

12

7

3

3

7

15

15



STEP 12

Assembly Instruction

STEP 13

8 of 12

10

10

5

5

5
9

L

8

3

15

K



STEP 14

Assembly Instruction

STEP 15

9 of 12

13

5

B

14

6

L

K



4cm

(1.57")

18 x2

18

FURNITURE TIPPING RESTRAINT

1.First mark the wall with

   pencil as in diagram.

2. Drill small hole at the

    pencil mark.

3. Insert plastic wall plug (18).

10 of 12



4. Add safety strap (17), washer (20)

    using 3.5x16mm screw (16)

    to back of cabinet.

5. Finally, attach safety strap (17)

    and washer (20) using 4x30mm

    screw (19) to the wall.

16 x2 17 x2 20 x2

M3.5x16mm

17

20

16

19 x2

M4x30mm

20 x2

19

17

20

FURNITURE TIPPING RESTRAINT

11 of 12



Anti-Topple hardware included for added safety and stability

12 of 12


	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model


